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1. W HERTHE] SRS gaviean v Fie siews 7 2

(1) et s (2) #fEE aE

(3) wrmsh 2wl (4) vt et

At present who is known as the ‘Golden Girl” of Maharaghtra in the field of shooting 7
(1) Anjali Bhagwat {2) Tejaswini Sawant

{3) Bhagyashree Thipase {4} Bhagyashree Bile

2, e ) dusten wfefs am w7

(1) (2) wETH

(3 (4) MR
Which Committee 15 appointed for Telangan issue ?
(1} Shri Krushna (2} Mahajan
(3) Reddy {4) Nagrajan

3. e 2010 76 fag aern, fEoia @i geEe e a.

(1) e Faw o 2y Fefte $om

(3) FEEE ATEE (4) TefEE TEEE

Name the New Chief Minister of Bihar, who is elected in Nav. 2010,
(1) Sushil Kumar Modi (2) Nitish Kumar

{3) Lalu Prasad Yadav (4) Ramvilas Pasvan

4. 47 = HERTe, T W A qee e Fien eyl 3wl fae g fa
el 7
(1} =™
(2) fafer
(3 0 B des eea
(4) whwsrzrh Faed
Which cinema is selected as a best Marathi cinema during 471" Maharashtra State
Marathi film festival ?
(1) Swas
(2) Wihir
(@) Mi Shivajiraje Bhosale Boltoya
(4) Hariechandrachi Factory

Hwod] HTATATET W SPACE FOR ROUGH WORK
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5, Wi TEE A1 UG W 2 RV e v g we faef a2

(1) s == (2} &=
(3) e (4) waviEm
Which defence force has approved Sachin Tendulkar as a Honorary Group Captain ¥
(1) Coast Guard (2} Army
(3) Nawvy (4} Air Force
6. FTE M A 2010 T T e g gzt
(1) == (2)
(3) g {4) ITFEmEEE
The 2010, Summit of NATO meeting was held in
(1) Spain (2} Russia
(3) Portugal {(4) Afghanistan
7. #2010 = Hywm T Huewgd af wpup witfie v e .
(1) sl Eraan
(2) iETo T
(3) sty S
(4) ZESTEETRiET
The year 2010 iz declared as the vear of by UNO,

(1) World literacy
(2) Protection of environment
{3) International Bio-diversity

(4) Antlterrorism

8. T AeafhTEE TR G T ST SO A A1 I e S 7

(1) ¥ (2) T

(3} TTETE (4) WERA

By social networking the thousands of youth organized at Tarrir Square is placed
in which city 7

(1} Cairo {2} Tripoli

(3) Bagdad (4) Muscat
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9.

wifaEn F& AT e e g 0 i T
(1) wmtae =l o 2o wrd

(2) T ST FvETEE R A e

(3) TR FE Eo

(4) vrama wrfaE = e o fdm

Jdyotiba Phule dedicated his book ‘Gulamgirt’ to those

(1} Indians, who had fought for social justice
{2} Americans, who had fought to free slaves
{3) Frenchmen, who had fought for revalution

{1) British, who had fought for Indian social justiee

10.

it FeinEEE UEa SRR 1940 A T .
(1) 2 iz wiw ke fod

(2) Frfas v waffs e R fud

(3) W 35 figsd g

(1) $femm e wiw daiai

For industrial research, in 1940, the Government of India established

{1} Tata Institute of Fundamental Research

(2} Council for Seientific and Industrial Research
(#) Bhabha Atomic Research Centre

{4) Indian Institute of Technology

11

Tt T &t # wEm Gich
(1) FEawL {2) =g
(3) #= fawn (4) ==l

Raja Ravi Varma was a famous _

{1} Movelist {2} Magician
{3) 0Oil painter {4y Poet

sl HIHTATE] AT/ SPACE FOR ROUGH WORK
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12. R g 1761-1999 71 Htamm wwarsn i e daem

FHIEHES T Fefte.

(1) W@\ (2) e

(3) =91 (4) "

Historically, during 1761-1899, Industrial Development of India can grossly be
divided into periods.

(1} Seven (2y Six

{3 Feur {4) Five

18, 2. 1854 T9 AW 74 999 Hi gt aftaam .

(1) wmEEE (2} A

(@) T (4) H

In 1854, the first cotton millin India was set up in
(1) Ahamedabad (2} Nagpur

{3 Mumbai (4) Surat

14. 1 SETET TEATE e, FrE o S e i TR,
(1) T &y (2) e s
(3) mE@F &9 (4) wERM &

The sector which owned, controlled and managed by the states, i3 known as

(1) Joint sector {#) Private zector

(3) Public sector (1) Co-operative sector
15 38 T TP T R A e e e,
(1) 1991 (2) 1951
(3) 1978 (4) 1981
In , India adopted a ‘New Eeonomic Poliey' under which the
economy was liberalized.
(1) 1991 (2) 1951
{3) 1973 {4) 1981

ST WINTATE] AR /SPACE FOR ROUGH WORK

Latest Sarkari Jobs, Govt Exam Results,
. 2 Know More
Vacancies and updates on one click




A T BMW
16. 1956 % sl o =1 mfirdten Brenefiay amaeEm 26,
(1) 9. #i. TR (2) 1%, Joq
{5y F. oAl (4) TeivR g
Industrial Policy of 1956 was based on the recommendations of the
Committee,
(1) J.C. Kumarappa (2) Ram K. Vepa
{3 D, C Karve {4) Ashok Mehata
17. EEEER ARE SR i w9 1 =i JT e,
(1) 1949 (2) 1948
(31 1950 (4) 1952
After independence, the Government of India passed the First Industrial Policy
resolutionin____
{1y 1949 (2} 1945
(3 1950 (4) 1952
18. womE wEfew el & = AT TR,
(1) ol ==t (2y e =
(3) a7y St (4) adterht
The water stored in dam is an example of
(1) Potential energy (2) Kinetic energy
{3} Atomic encrgy {4 MNone of the above
19. Frwirar sopng sew wome fri g m T=e e e we s

(1) SIS 4 3 300 s 2 2 FH )
(2) SVEEGEEE 2 7 A S 4 3 T e
(3) A 4 3 anfin smjsiE 2 3 e

(4) SEEEHTE 9 SWUSEH G GHEE TR

When an atom emits g -radiation and gets converted into another atom its

(1) Mass number decreases by 4 and atomic number decreases by 2
(2) Mass number deereases by 2 and atomic number decreases by 4
(3) Mass number increases by 4 and atomic number increases by 2

(4) Both mass number and atomie number remains same

e TIHTHTE] AP/ SPACE FOR ROUGH WORK
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20, HET= g WY A L
(1) 10% (2) 2084,
(3) 25% . (4) 30,
The least distance of distinet vision is
{1} 10em {2) 20em
(3) 25em (4) 30cm
21, e geEhiE v afteEn s fémm wrTETa.
(1) 24 {Z) 27.3
(3) a0 {4) 365
The moon takes davs to complete one revalution around the
earth.
(1) 24 2y 27.3
(3) 30 (4) 365
22, T R HiE i T,
(1) FrewEh wiet (2) TA
(3) Fomem (4) =i G2
Plaster of Paris is prepared from
{1} Dead burnt plaster (2] Alum
(3) Gypsum {4) Copper Sulphate
98, TETafe U e mefie T e Tl T
{1y M ) N
(3) A 4 X
One gram-mole of a substance contains _____ number of molecules.
)y M 2y N
(3) A 4 X

THEeT HINTATET AW/ SPACE FOR ROUGH WORK
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24. TENCETE e faurm Fiord e
(1) TIRIEEM Fa T Heide S
(2) wEwrea feeam (tadpole) 2T T §19 STEEHT AT S9SN TEA SREEM 10
Fe T
(3) emrErEm @ s e fma gen’ s
(4) wrErEm R Ui Suden FEERG 3 92 I AT
Which one of the following is not true 7
(1) Lwsosomes are present only in animal cells
{2) When tadpole tranaforms into frog, the tail is digested by Lysosomes
{3} Lysosome is the cell’s waste disposal system
{4) Lysosomes oxidise carbohydrates and fats, present in the cells
25. it e e sfaaes s
(1) A,BaK 2y A9 C
@) A BaD (4 BaC
are water soluble vitamins.
1) A,Band K 2y Aand C
(% A, BandD 4y BandC
26. TR T A e -
(1) $zrE (2) i
(3) viwmERA (4) FmERERA
In diabetic condition is uged,
(1} Interferon (2) Insulin
(1) Erythropoietin i4) Somatostatin
27, AW __ a1 =T st B R wmens veo e FvAT WL
(1) 1834 (2 1835
3y 1850 (41 1857
In the year ___Enghsh was made the medium of instruetion in India,
(1) 1834 (Z) 1835
(3) 1850 (4) 18567

e RETHETE AP /SPACE FOR ROUGH WORK
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VAT Toedef] eama Wil eeea W T S 2 ER.
(1) w2 frm (2) #d Zad)
(3) #TE &g (4) = Fm

__was the Governor General of India when railways were

introduced in [ndia.

(1) Lord Rippon (2 Lord Dalhousie
(3) Lord Curzon i4) Lord Canning

29. 18579 ‘weA gm w1y it ferfiem.
(1) wtftems 0% (2) HETEAT Tt
% . = aEE (4) T vl
‘The War of Indian Independence 1857 the book was written by
(1) Motalal Nehru 2y Mahatma Gandhi
3y V.D. Savarkar (4) Vinoba Bhave

" 30. @aé-aﬂmqﬁa?rﬁmﬁﬁmmm ?

(1 18556 (Z) 1853
(3) 1857 {4) 1856
When did the First Mumbai-Thane Railway line started ?
(1) 1855 (2) 1853
(3) 1867 (41 1856

a1

T, R, S | TEE e a1 agaE e w5 a7

(1) wwrn (2) . 5. e

(3) T Raw (4) HTTEE AW

Who was the proponent of the Four-point formula (Chatuhsutri) ; Self Government
{Swarap), Use of Domestic Products (Swadeshi), Boyceott (Bahiskar) and National
Education (Rashtriva Shikshan) 7

(1) Mahatma Gandhi (2) 3. K. Gokhale

(3) Lokmanya Tilak (4] Subhaszhchandra Bose
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32, ‘mEmfll’ w1 vy wf foafe 2

(1) =i TR {2y W= T e
() weEre =i = (4) TH %3

Whao wrote the book 'Gulamgiri’ 7

{1} Justice Ranade {2) Bhau Daji Lad

{3) Mahatma Jyotiba Phule {4) R.D. Karve

33. # 1857 =1 TS Ak WA TEEAT T B,
(1) =7 e (2) ®E waTE
(3) wiwg T4 (4) =t &
was the Governor General of India when 1857 revolt broke out.
(1) Lord Dalhousie (2) Lord Cornwallis
(3) Thomas Munro i4) Lord Canning
34, wqE Tffs A 18T mTEs T EE S 3w
(1) ot e e
(2) w nfor g

(3) g0 anfiy sEEAn
(4) weweTw 9 g

Deccan riota of 1875 were major agrarian revolt in

{1} Poona and Sangli

(2) Mumbai and Prona

(3) Poona and Ahmednagar
{4) Ahmednagar and Mumbai

85. 2001 <A1 FTVRER WRAT Hefle F SHEE =T AT,
(1) fafFm (2) >
(3) weT (4) HareE
Asperthe 2001 census __ state of India has the lowest population,
(1) Sikkim {2} Kerala
(3) Maharashtra (1) Meghalaya

mmm}ﬁl’kﬂ! FOR ROUGH WORK
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86, HaE GEvElE WE AR A wd s A9 Felt7 et g e AR,
(1) e (2) ===
(3) wmiE (4) iz
The new port is developed at for reducing burden of goods transportation
in Mumbai port,
{1} Haldia (2) Nava-Sheva
(3) Marmagao {4) Kandla
87, g TE 8 aFeR dfiren e,
(1) P (2) T waEha
(3) o wawEha (4) e
Multilayered growth is the characteristic of vegetation,
(1} Semi-evergreen {2) Dry-evergreen
{3) Wet-evergreen {4) Deciduous
38.  femat St g T s e,
(1) 1 feg= 1957 (2) 1 7= 1956
(3) 26 SrEH! 1958 (4) 15 3T 1947
Bilingual province of Mumbai came into existence on
(1) 1Dec. 1957 (2) 1 Nov. 1956
{3 26 Jan. 1958 (4} 15 Aug. 1947

39, =iEr wRaRE Hioen SEe @i=ndie Soaand gaih Gtd 9 7

(1) F=m (2) HiEm

(3) Tt (4) F

Which river basin is the largest water resource of Southern India ?
(1) Krishna {2} Perivar

{3) Godavari {4} Kawveri

Tl wHTATST A/ SPACE FOR ROUGH WORK
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40, TETTZTET faeen TeE & AT o1 TeErn il .
(1) =l (2) &
(3) =T (4) e
district of Maharashtra is located on the boarder of Gujarat and

Madhyapradesh.
{1} Nashik (2) Dhule
{3} Jalgaon (4) Buldhana

41, i A e 3 2.
(1) o=E TW (2) =fem
(3) Frd (4) FrE
Natural gasisproducedat _ ona large scale.
(1) Mumhbai High (2) Nazira
(3) Dighoi (4) Koyal

_4-2_. HET=; 1T HI;EEF'E ﬁ- LLIGIGHE
(1) sEEd (2) =wid =EW wh
(3) Frerdm (4) s
The pre monsoon showers in Maharashtra are called
(1) Mango Showers . {2} Coffee Blossoms
(3} Kalbaisakhi (4) Aandhi

43, ottt wioen srfn gengn srfirToe dtea 0
(1) W =
(2) WA T
(3) WTETHRE ER
(4) w=a=n vEdE o e e
Which one of the following is not the fundamental right ?
(1} Freedom of speech
(2) Right to equality
i(3) Right to property
i4) Right to follow the religion of one’s choice

TEET WA WO/ SPACE FOR ROUGH WORK
P.T.O.
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44. =i T =EEATE g2 9 wR-F2 e 7
(1) Hvm=ETE ATy AfhE
(2y rommErE T qurE)
(3) Ferd wTge o)
(4) a5 Tl AfEn
Where are Mumbai High Courts benches ?
(1} Aurangabad Nagpur Nasik
(2} Aurangabad Nagpur Panjim
(3) Mumbai Nagpur Panjim
{4} Mumbai Panjim Nasik

45, VT T T 3wt Fem el “wEATe SAftE TE e .
(1} 36751 (2) 29730
(3) 19 (4) 32735

The provision to ‘right to freedom’ is situated in the part 3 and article
of the Indian constitution.

(1) 36to51 (2) 29030

@ 19 {4) 32to035

46. wEH RugwEn s TR .
(1)
(2) "o ghaa
(3) TR ET
(4) Tr=EET BTt
The draft of Government Bill is prepared by
(1) A Minister
(2} The Parliamentary Secretary
{3 The Speaker of the Lok Sabha
{41 The Speaker of the Rajva Sabha

o1 WTATHTS! W/ SPACE FOR ROUGH WORK

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




A 15 BMW
47, e Trafeger e aia faeeh &= o o

(1 4 2y 3

@ 2 (4) 1

Municipal Council in Maharashtra is divided in categories.
(1) 4 2y 3

(i 2 4 1

8. el W deea i - e e 66 e

(1) 1949 (2y 1976

(i) 1955 4y 1952

The Parliament of India passed ‘The Citizenship Act of India’ in the vear
(1) 1949 2y 1976

(3) 1955 (4) 1952

49, 7 FE L UETERT R 2

(1) 3rmE Ieh (2} L

(3) wETEE (4) = TEHE
Which of the following is a State Government Tax 7
(1) Custom duty {(#) Income tax

(3 Corporation tax {4} Land Revenue

50, T i w
(1) #1% fias gaeaEE T
(2) # 3 s dEm s
(3) #13 fadrs Taefie geen wied
(4) 15 fridrs ww AR AR
Private bill means
(1} Which was placed by Prime Minister
i(2) Which was placed hy Minister
(3) Which was placed by member of Parlinment other than Minister
(4) Which bill for common people

TSl HATAE WM SPACE FOR ROUGH WORK
P.T.On
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51. TR oEEmTmdiE A st B o e

3 _54_81
A B 63
(1) A=28 B=42 (2) A=22 B=46
(3) A=42 B=28 (4) A=32 B=44
Find the values of 'A" and ‘B’ in the following equation,
3 _5i_8l
A B 63
(1) A=28 B=42 (2) A=22 B=46
(3 A=42 B=28 (4) A=32 B=44
52 T TR SRR 3 9 v e gan g e, 59 s S w1 e anfie
= AT W T S do s e
36 | 64 | 81
49 [100] 2 |
121 | 144 | 169 |
(1) 16 (2 9
(3) 225 (4) 196

In the following question 8 of the 9 cells are filled according to some rule, Find the
missing number from the four alternatives given below.

36 | 64 | 81

49 100 | 2

121 [ 144 | 169 |
(1) 16 (2) 9
(3 225 (4) 196

53. FHTEA T0TG UF G&7 T AThad b a1 S, e 1t Rt gar amia 2
1) 8 2y 9
(3 10 i4) 11
In a row of trees, one tree is fifth from either end of the row. How many trees are
there in the row ?
(1 8 (2) 9
(3 10 (4 11

Feed HTATAT AR /SPACE FOR ROUGH WORK
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54. @EE TRWE Aferen Wiad swEeen s e g 9 Faeern el Fim i Ha @
T
16 1 g
25( 729 )49 |, 36 669 25 , 81 G) 100
121 49 16
(1) 256 {2) 225
{(3) 676 (4) 324
Dhzerve the given number relation around the circle and find out the number in
the place of the question mark.
16 1 2]
2545 . 36@25 i El@lﬂﬂ
121 49 16
(1} 256 (2) 225
(3) 676 (4) 324
55. WS fam TR dn s m dmn v fEm e fa i
(1) TR (2) F¥AN
(4) YRR (4) =W
If independence day falls on Sunday, the coming Republic Day will fall on
(1} Sunday (2) Wednesday
(3) Friday i4) Thursday
56. firiiem i swmim @wiiee ms vfvam faen g, @ s 9 e Soen fE@en ofie 7

(1) wfF=m (2) =
(2 o {4) IW

While doing Shirsasan, Swapnil's back faced west. In which direction would his
right hand be ?

(1) West (2} South
(3) East (1) North

Feed] wIHTETS AT/SPACE FOR ROUGH WORK
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57, W e arercier whom sl fiww o walamg i,

LMS

(1) TNZ (2) Luz

3 r1a (4) g8ur

Find the correct water image from the alternatives.
LNS

(1) N2 (2) Luz

(3 rmz (4) 21T

58, UF AW SfrEen 30 Hiew = e ﬁﬂ!ﬂﬁﬁl’lﬁﬁﬁ?ﬁ 30 Tizd Ten, AW e TEE
?;gr?h 20 iz . gom e a1 30 wied e 9 mren geare S R e
]

(1) 20 "=l (2) 30 "l

(3) 50 ed (4) = AT

A man walks 30 metres towards west. Then, turning to his right, he walks
30 metres, Then, turning ta his left, he walks 20 metres. Again, he turns to his left
and walks 30 metres. How far 12 he from his initial position ?

1) 20 metres (2) 30 metres
i3) 50 metres (4] None of these
59. w0 T anaEl wdie S A Y w31 Josn wan Tl el @ tage gat s i 2
(0 R 2 T
(3 8 4 Y
If letters from S to Y are written in reverse order, which is gecond last letter 7
(1) R 2 T
3 5 “a Y
60. mmﬁmm e, e A s, W e = e e
7
(1) HrmER 2) tEem
(3) TR 1) wiEw
Two days after today is Christmas. Christmas falls on Sunday. What was the day
two days before today 7
{1} Monday (2) Sunday
{3} Thursday (4) Saturday

THoeT HINTATE] AN/ SPACE FOR ROUGH WORK
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61 W= el Tia swem e, Tl € gere fhen s e s aw, s @ e
Frantt wmeft. et ) Afrwren S wweh s, Al € v Rewefl SR, w0 ST w e

T et e 7
(1) Trehh (2) gem
(3) = (4) wfERT

Five girls are sitting in a row. Hashi is not adjacent to Sulekha or Abha. Anuradha
iz not adjacent to Sulekha. Rashi is adjacent to Monika. Monika is at the middle in
the row. Then, Anuradha is adjacent to whom out of the following ?

(1) Rashi (2) Sulekha
(3) Abha i4) Monika
62, U HITETS T wea S ot St o, aret ot ) e afierh vgerd) v genft s
w1 T Tt e w
(1) (2) Wis
(3) wmEm (4) i AT

Introducing a man, a woman said, "His wife is the only daughter of my father”
Heow is that man related to the woman ?

(1) Hushand (2) Brother

(3) Father-in-law (4) Mone of these

83, wemes Termreay fasmoft oo s Wi,

2719 | 15
22 | 4 | 12
5| 2?3
(1) & (2) 6
@ 3 () 2
Find the number in place of question mark.
2718 | 16
22 | 4 | 12
5 (7|3
(1) & 2 6
(3) 3 ) 2
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64. Tooem wiawg T e Fae st w2 i o

|o|e| |of z
al | o jo|o|=| ¢
(o] o
1 2
(1) = (2 S
]
3 olo| 4 |/
Complete the following series of figures by selecting appropriate option.
olo| |ao
al | ol o] @ja ?—‘
o o
(1) = {2} &
(]
3 oo 4 o

65. TS Ao WTHd dom pul ta' VA “bring hot food”, ‘pul tir .sn:u]:a1 B ‘food is guod’, and
“tak da sup' means good bright ha}r', e AE ‘hot' w8 e w0
(1) dom (2) put
(3) ta (4) Z@EA A TR

In a certain code language, ‘dom pul ta’ means ‘bring hot food', 'pul tir sop’ means
‘food is good', and “tak da sop’ means ‘good bright bay’, Which of the following does
mean hot’ in that language 7

{1} dom {2y put

{3 ta {4} cannot be determined

66, T e Avs 6 Ff A ewan mRwda e @ ael 2 FEd S gl wweE T W

ST Tt & e o
(1) =wei 8 el {2y @wl 3
(3) =t 4 Bt {4y ATl 5 FE

A boy walks from his home to school at 6 kmph. He walks back at a speed of
2 kmph. His average speed is

{1} 8lkmph (2 3kmph

(3) 4kmph (4) 5kmph
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67. ¥ POT, TEA, PET, PEN & 7/=2 274, 431, 234, 235 =& faféd s svedie M TAPE =1 9=%

R faf dde o
(1) 4123 (2) 2471
(3) 4234 (4] 4231
The words POT, TEA, PET, PEM are written as 274, 431, 234, 235 reapt. How will
the word TAPE be written 7
(1) 4123 {2y 2471
(3) 4234 {4) 4231
68. 4 T Uiz Imeed T feer wagrem mamg 1 fom Tear aeihEn s S EEE
ot womor F S 7
(1) 4% (2) 4.33%
(3) 4.5% (4) 4.66%

One litre of water iz evaporated from 7 litres of sea water containing 4% salt, The
% of salt in the remaining of solution is

(1) 4% (2 4.33%
(3) 4.5% (4) 4.66%

69. e FEET O FenEEl @ vt R
5,9,17, 29, 45, _
(1} &0 (2) 65
{3) 68 4 70
Complete the following number series by selecting appropriate option.
5,9, 17, 29, 45, _
(1} 60 2) 65
(3) 68 4) 70

70, 9T = i I sa. s O . e el . T e 9v g, vy e
B AT, T 1 FOT A TS Tl e i A 2
(1) A (2 =
(3) TEe (4)
Five friends are standing in a row, Ravi is not ahead of Rajan, Rekha is in the
front. Rajan iz behind Rahul. Renu is behind Ravi, Rajan is not behind Renu,
Who is at the end of the line ?

(1) Rajan {2y Ravwi
i3} Rahul {4) Renu
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T1. TEE 3 FHE S A FE
{a) ﬂfﬁl + Hd
(b) = e
(¢} R T
(dy werh . d=
(1) (a) {2y o
{31 {c) (4) ()
Choose the odd pair of words.
{a) Chandragupta : Maurya
by Babar : Mughal
{¢) Kanishka : Kushan
{d) Mahavira : Jainism
(I} (a} (2) (b}
(A (o (4 (d)
72, WEF aﬁamzﬁmﬁmu-—rqrrﬁwﬂﬁ i e T faem Eﬁﬂﬂﬁrrﬁ faet 1wt
1y 4 (2) 6
(3 1 (4) 9

A 3 cm cube has been painted red on all its sides. [t is eut into one ecm cubes. How
many cubes will be there with enly one side red 7

(1)
(3

4
1

(2 6
) 9

78. TIEM T IO TR W,
{a) T
(by TH
{cy Forfimi
(dy FeiE

(1)
()

(a)
(ch

Choose the odd one out.

(a}
(b}
{ch
(e
i1
(3

MNiger

Suez
Missizeippi
Colorado
(a)

{c)

o= HIATHED AT/ SPACE FOR ROUGH WORK
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74, Wi 99 ¥ e s annia e, meie T Rew 7 e smn dEy
el AR e

@ () @ (o)

Following question i based on the following diagrams. Choose the diagram that
illustrates the relationship among three given clazses described in the following
question.

Male, Female, Girls.

) o (1)
@ () @ (o)

75. BDF:HIL::MOQ:?

(1) XVT (2} TVX
(3 VTX 4 TUX
BDF: HIL:: MOGQ : 7

(1) XNVT 2 TVX
(3 VTX {4) TUX

76. TEI MEME 50 wiwEm, 45 e, 8 32 onft w5 o snde. womEined swwEem TEm
SIFETHET 224 TF AT AT R G R 7
(1) & (2) 8
(3} 10 4) 15
In a caravan in addition to 50 hens there are 45 goats and 8 camels with some

kespers, If the total number of feet be 224 more than the number of heads in the

earavan, the number of keepers are
) 5 (Z) &
(3 10 4) 15
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77. A wata FEgd wE e L
iz it mim
{1) It ; 3ws (2) o ;v
(3) wHEieE @ T2l {4) = deara « T
Select the correct option to complete the sequence.
Hitler : Germany,
(1) Shakespeare : England {2y Tulsidas : India
{3 Mussolini ; [taly (4) Boriz Yeltsin : Bussia

78, Erefie W 7% w0 e e fiwt s vem e w1 v ffre famgen s e

81 [25]720 ]

o | ?|125 |

512 64| 8
(1) 3 (2) 4
3 5 (4) &

Following question there iz a square having nine cells. Eight of the cells have
been filled in with numbers by using certain rule. Find the correct alternative to
fill in the empty cell by the same rule.

| 81 |25 [729
[ 8 | 7|12
512 |64 | 8
(1) 3 (2) 4
(3 5 4) 6
79, 1@ 1980 77 Ragh ofEw B @ 1975 =4 Sl SO 96 g 7
(1) ThEm (2) AR
(3) WiwEm (4) HHEw

Ifit was a Saturday on 1% April 1989, what would have been the day on Children's
Day of the year 19757

(1) Sunday {2) Friday

{3) Saturday {4y Monday
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80, = T FEE
ey Ei e ?
(=) Jm
(=) =m0
(F) e
(z) shemm
n (3 (2) (=)
3 (%) (4) (=)
Select the best alternative.
Man : Biography ; : Nation : 7
ia) Leader
by People
{e) Geography
(d} History
(1) {d) (2} (a)
(3) {c) ) )

BMW

81 1. T, H, § T wE e aawE! T =
(1) fafoma —mims #23W
(2) RfR=1ee ufere we
(3) SO A F
(4) ST i e
The abbreviation DNC is used to denote
(1) Digital Numerical Control
(2) Distributed Numerical Control

(3} Dual Numerical Control
(4] Dynamic Numerical Control

82, T 39 qETY i g FTEETE TR S 3 Iee AT S B

(1) a3 g (2) FU%ER 9 R0

(3) weE (4) T T EE

A hot body will radiate heat most rapidly if its surface is
(1} Rough and white (2 Polished and white
(3) Grey i4) Black and rough -
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83, Fog vEE feands (F2) @ A miEd=n e ForeEn g S e e o

(1) 1. =\, UE. (@ . 2. wE,

(3) @ma. sh, § ww, (4) wy. i, £

Following is the data exchange standard in Computer Aided Design (CAILD
(1) GIF @) PDF

(3) IGES (4 MPEG

84, ez Wi T 9T e Wi e U] WaTdiEt SnTe Y A s

EER i
(1) = =E (2) fime
(%) TR FRH (4) g

Which 1s the most suitable work material that can be machined by ultrasonic
machining ?

(1) Mild steel (2) Brass

{3) Castiron (4] Glass

85. T WA BT VAT R FEed] S99 e ST 7
(1) T T
(2) Oz T
(3) WHmEE T
(1) T e sEs
Transfer machines are employved under the application of
1y Hard Automation
2y Soft Automation
(3) Programmable automation

{4) Low cost automation
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86, TR HHFATES SRE] Was] HIEVH TF Wieieii] I aeiEt [ ?
(1) afe HeFdEd
(2) wifER e frifs e
(3) 7 fewadiee gpite afamiei
4y W
A carbon menoxide analvser worke on the principle of
(1) Thermal conductivity
(2) Paramagnetic properties of O,
{3} Mon-disperzive infra-red absorption

(1) Expansion

87. T FiA- T ZE ge e T erE 51 0 e e
(1) e T STHAAT STHTER T
(2y ST AT SEA AT Fmi
(3) =T FefavarETEl ST W niE
(4) O FHAES FAN TS
The dizadvantage of radial ply tyre compared to eross-ply tyre is
(1) Uneomfortable ride at low speeds
(2) Uneomfortable ride at high speeds
(%) Higher cornering power

(4) Lower rolling resistance

B, AEA THE WUHE B T4 AR AT AU G G SR e S,

(1) it s (2) gé sF

(3) F9M S {4) it sie|

Most anti-skid devices are employed on

(1) Rear brakes (2) Front brakes
(3 Secondary brakes (4) Parking brakes
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89. ‘'mifz z uidz =quicRe FEE W AAE IR F e wiiEe el e ) 7
(1 ffem mefia
(2) umfén wei
(3) Tl aeha
(4) =T A
The machine tool in which point-to-point numerical control system is applied is
the
(1) Drilling machine
(2) Grinding machine
(3 Milling machine
(4) None of the above

80, O Wi 3 ten 3 w2 I sfie wRiam o e

(1) 2w JeEe (2) =qUE THFE

(3) FiAle HRH (4) 3772 HEET

No engine can be more efficient than the engine working on
(1) Diesel eyele i(2) Dual eyele

(3) Carnot cvele (4) Ottocyele

91, THIETEN LTS AT FA THHE TR SR Wieet R 3w 7
(1) T T 9
(2) TG BT A
(3wt FET
(4) =TT TTEEl EE
Refrigerant enters the condenser of a mechanical refrigeration system as a
(1) Low pressure gas
(2) High pressure gas
(3) Low pressure liguid
(4) High preszure liguid
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92, v YRS AT AT SewE e AT W T Wi sigese TEE meE
FW 3 Tohet
(1) e SreE Ao Fen SrEE
(2) T HE BT A A0 AT ST
(3) THET 92 F T O WA S
(4) AT O TR AEEE
An electric motor driving a centrifugal air fan iz found to be running hot. The
mast lively cause is
(1) Slack driving belts
(2] Fan starting load i= too heavy
(3] Heawvy deposits of dust orfand oil
(4) Bent fan blades
93. a1 wETE wH] TR S T T e ST A I
RGIG
(1) v =gica (2) TR T
(3) ¥ Y (4) W
The device located in the exhaust system to reduce the exhaust noise is called the
(1) Exhaust valve (2) Exhaust pipe
(3 Tail pipe (4) Muffler
94, T AR AT T T ST,
(1) 1:13fn4:1
(@) 4:1afinz.1

(3) 12:1amfn 241

(4) 24137 48:1

The steering in the case of modern automobiles varies between
(1) 1:1and4:1

2) 4:1land2:1

(3 12:1and24:1

(4) 24:1and 48:1
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95. i et wea T anfin 3+t tm aven wiim wEEn VI,
(1) 2 3t (2) Fim fim st
(@) Frz e (4) s A
The angle between the vertical line and the centre line of the king pin is known as
{1} Toe angle (2) King pin angle
{3} Caster angle {4) Camber angle
96, ATEAE T AUfEE IR ___mam,

(1) s T2 3= =

(2) TEATER A TR AT A EE

(3) o faeomh o weEmee Sl dEsEm s wE
(4) 3T 3 = wom g wm

The primary purpozse of the clutch in automobiles is to

{1} Act live a brake in case of emergency

{2} Give high speed to the road wheel

{3) Take up the drive smoothly

{4} Decelerate the engine

97, gt T i T A1 EeleeR S st S 2
(1) e
(2) T T
(3) T T
(4) e
Octane number of 81 engine fuel is a measure of
(1} Purity
(2} Knock resistivity
(4} Pollution level
(4) Efficiency
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98, wtEe R Ty e wEliatE gal TEwEEn wEE w7
(1) 3o wEw =g Fwowar gl
(2) T EEE
(%) T =t
(4) vt FvaE |
Most important advantage offered by Direct [njection (DI) diesel engine is
(1) Easy cold starting
{21 Light weight
(3} Low cost
{4) Easy assembly

99, geai o ST G SRV H), S, ST FT 26 qEE d watie v

T ?
(1) gfE T fidm (2) fedieger faedm
(3) =i 1o fadim (4) el onéq fondm

Most suitable fuel supply system for C.l. engines having electronic engine
management is

(1) Unit pump system (2) Distributor system
{(3) Common rail system {4) Aszembly line system

100. AT =1 w6 -2 wgEm FaEm yorefan awEER S e FEA deiaEe St
A UG Y .
(1) 224
{2y g20, 6, m,
{3 2.21m/fE, =@,
4) 100 .4
Ag per the B3<1[ emission norms in India, the allowable carbon monoxide level is
() 2.2 %
(2) 320 ppm
(3) 22em/km
(4) 100 ppm

e HIITHTE] AU SPACE FOR AOUGH WORK
P.T.O.

Latest Sarkari Jobs, Govt Exam Results,
. 2 Know More
Vacancies and updates on one click




SEAL

32 A
ﬂl_"r'"’ (7= 1 TEA 92.... )

(8) weqftrkmed fafem e fifire arfra s wm (o6 39%) 303, segfErdsfife b
A1 T IR Fed FW W A S e IR e R, wE g Wie | e
iy T S e el S S ey srvaeed sfafeg -ae”
refTer AT FEg Fevai Age 3 A sadt o w wvie wEmwren snfen/ e vl
U EE R fare ek T ae,

(9) wE wEaESEE s e S de dueaew ST @ wegEE i aie
THATHETAT U3 SUATE TEE SR, W U SETE ATy THEEn S
TR - 1 TEsETE 7 e mw = amEres e

AT A
W F. 201, T Al T8 TG Eivil Ea: Wel e 7
(1) =T T EE (2) vy T
(3) T TEHE U4 {4) T e
T v I I () T T e s e, A e I () e

Treda TTEETE 1 F. 201 s6i0E IE-was @) ¥ ade i ewifea eea
RGN STAF 3T

F 2. O @ @ @

STFIT AT T WA echrlel Seile T g IR w1 e St [
I w1 o TR Bafia e i waiten e e, g
R ST VISR Sierds A, U I O s
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